MAT 201 Quiz #2, Fall 2016
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Instructions: Show all work. Answers without work required to obtain the solution will not receive full
credit. Some questions may contain multiple parts: be sure to answer all of them. Give exact answers

unless specifically asked\to estimate.
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1. Sketch the grap!L of the curve #(t) =
costz+smtjj-c052tk Be sure to
label the axes. PRlot about 10 points.
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3. Find a vector-valued function that represents the curve of intersection of the surfaces z =

1/)4:2+yzand.z-7-:1-f-y.
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4. Match each equation graph to the corresponding set of leve| curves.
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i. z=sin(x+y)cos(x—y) D
. |z gyl
iii. z=,/16-x2—-y2 C

iv. z=In(x -2y +4) B

Note: On these graphs, g

The dotted line represent

reener shades are smaller values of z, while
[ vertical asymptotes.

redder shades are larger values.




